DCH263 Handle switch sa CORDLESS DRILL 1




CORDLESS DRILL 1

Gearbox

DCH263




Parts List DCH263 CORDLESS DRILL 1

Item Part Number Qty Part Description General Description Other Info  Repair Inst Markets
2 323489-00 1 CAP No
3 579212-00 1 RING No
4 N391370 1 TUBE No
5 583890-00 1 BALL 7MM No
6 578387-00 1 WASHER No
7 871690 1 SPRING No
10 577812-00 1 SEAL No
11 577813-00 1 BEARING NEEDLE No
13 577814-00 1 WASHER No
15  584423-00 1 BEARING & SEAL No
16  577139-00 1 SEAL No
17 577814-00 1 WASHER No
18  N322087 1 SPRING No
19 N417736 1 LOCKING RING No
20 N417740 1 GEAR 48T No
21 581836-00 1 LOCKING RING No
22 577135-00 2 O RING 19.5x3.5 No
23 577130-00 1 DAMPER No
24 N082142 1 BEAT PIECE No
25 580990-00 1 O RING No
26 N401306 1 WASHER No
27  N361759 1 CLIP 28.4 X 2MM DIA No
28  N059509 1 WASHER No
29  N417747 1 BEARING No
32 579699-00 1 O RING No
33 N417751 1 PISTON No
34 N325040 1 WASHER U No
35 'N325041 1 BEARING SPINDLE No
36 N495867 1 HOUSING BEARING No
37 ° N264673 1 O RING 22X2 No
38 / N418018 1 INTERSHAFT SA No
44 1005844-00 1 WASHER No
45  N264672 1 O RING 64X 4 No

Page 1



Item Part Number
47  N417860

48  1005812-00
49  N445171

50  324006-15
51  N323101

52 1005795-00
53 330065-13
55 N091381-00
60 N556386

61  N245239

62 330003-60
63 1005895-00

64 N467767
65 N467131
66 N261987

67  330065-06

68  N485568
69 N684207
70 N572774
71 N572780

72 330065-09
73 330065-07

74  NS538721
75  NI152623
76  N106188
77 N399342
78  N487311
79 N467560
80 N728013
81 ' N102647
82  NI122099
83  N728012
89  N655033

Parts List DCH263 CORDLESS DRILL 1

Qty Part Description

1 GEAR

2 FELT

2 SCREW
3 SCREW
1 PLATE
1 SPRING
4 SCREW
1 O RING

1 BAFFLE FAN

1 WASHER
1 BEARING
1 BEARING
1 NUT

1 COVER BEARING
1 CAP

2 SCREW

1 ARMATURE SA

1 MOTOR SA

1 CLAMSHELL SET
1 CLAMSHELL SET
2 SCREW

8 SCREW

1 BELLOWS

1 STOP

1 SPRING COMPRESSION
1 ACTUATOR FWD/REV

1 RUBBER
1 PLATE

1 INSERT

1 SPRING
1 BLOCK

1 INSERT

1 LED LIGHT

General Description

13T

M4 X 12

M4 X 20 ANU-LOCK

4x30
18 X 2 BLACK

8x22x7

M6 LHT

M4 X 12 T20

M4 x 25

M4 x 16mm

UPPER

ANTI VIB INSERT ASS

ANTI VIB COVER

Page 2

Other Info

Repair Inst

Markets

QW
QW



Item Part Number

90

91

100
101
102
104
118
800
801
821
822
826
836
836
836
846
861
866
871

N413662
798846-02
N418052
N417861
N418036
N417853
N417734
870889-02
487130-04
N653201
N483918
N253819
596005-99
1003925-99
1003924-99
N684220
N614733
N394624
N450536

Parts List DCH263 CORDLESS DRILL 1

Qty Part Description

1
1
1

HANDLE SIDE SA
DEPTH STOP

SPINDLE SA

SELECTOR SA

RAM SA

COLLAR

HOUSING SA

GREASE 90 GMS

GREASE 10 GMS

RATING PLATE

LABEL

LABEL

S.T.CIRCLIP REMOVER
S.T.CIRCLIP INSERTER
S.T.CIRCLIP REMOVER
SERVICE KIT

KITBOX

BATTERY 18V - 5.0AH - 90WH
CHARGER (EURO)

General Description

22MM HPP

3 MODE HPP

Paragon EP 1/2
GLK-FLUID249NLGI000
EURO

18V

PERFORM & PROTECT

Li-Ion - DCB184-X]J
DCBI115-QW - 4.0A

Page 3

Other Info

Repair Inst

Markets

QW
QW

QW

QW
QW



